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SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
307 QI2to| A 10,000 10,000 0
05 QIZHREZ 10,000 10,000 0
OHSAI RUHE=S 10,000, 000& 10,000
HESAHH (A=) 17,472 18,228 NT56
oled 2 A 4,200 4,200 0
ol 2AH| 4,200 4,200 0
203 R F=&H| 4,200 4,200 0
04 2EASIEYRFAH| 4,200 4,200 0
ORNSIHERFAY| 4,200,000 4,200
Jl23&Hh| 13,272 14,028 NT56
Jle&dl 13,272 14,028 NT56
201 B3| 13,272 14,028 ANT756
01 At22teldl 13,272 14,028 ANT756
OEN2E+EH| 7,560,000& *90% 6,804
OJ|12g248 2| 6,468,000 6,468
MRES(A=Y) 3,900 0 3,900
LHEHHX S 3,900 0 3,900
HEHISTAIE SE3H =3 3,900 0 3,900
701 JIEISIHAE =2 3,900 0 3,900
01 JIEISHEE=2 3,900 0 3,900
OMEHIEE SEIH dE= 3,900,000& 3,900




